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1. Which of the following statements is true about a market economy?

a. Markel participants act as if guided by an “invisible hand” to produce outcomes that maximize social
welfare.

b. Taxes help prices communicate costs and benefits to producers and consumers.

¢. With a large enough computing system, central planners could guide preduction more efficiently than
markets.

d. The strength of a market system is that it tends to distribute resources evenly across consumers.

2. According to the principle of comparative advantage,

a. couniries with a comparative advantage in the production of every good need not specialize.

b. couniries should specialize in the production of goods which they enjoy consuming more than other
countries.

¢. countries should specialize in the production of goods for which they use fewer resources in production
than their trading pariners.

d. countries should specialize in the production of goods for which they have a lower opportunity cost of
production than their trading partners.

3. East Taipei bars frequently offer “free” snack during Happy Hour, because:

a. they feel charitable.

b. they get discounts on snack from wholesalers.

¢. they can increase the demand for drinks this way, because snack and drinks are complementary goods.
d. snack and drinks are substitute goods, so lowering the price of snack increases the demand for drinks.
¢. they don’t always behave rationally.

4. Of the following, the main reason why OPEC used to be unable to keep oil prices high is that:
a. demand tends to become more elastic in the long run.

b. supply tends to be more inelastic in the long run.

c. governinent regulations have prevented it.
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d. massive new petroleum discoveries have increased the supply.
e. consumer boycotts have driven the price down.

5. Shortages result whenever:

a. wants are unlimited and resources are limited.
b. wants are limited and resources are unlimited.
c. price is held above equilibrium.

d. price is held below equilibrium.

e, quantity supplied exceeds quantity demanded.

6. Jim is shopping for furniture. He finds a new coffee table that he likes at & big furniture warehouse. The
price is only $200. He also has a friend who makes coffee tables in his spare time, charging $500.
Disregarding price, lim is indifferent between the quality of the two tables. He is willing to pay up to $500
for a table of this quality. He could also make one of the same quality himself for $100 in materials, but he
feels that his time is worth another $600. If the quality really is the same, then social welfare (ignoring
nonmonetary aspects of friendship) is maximized if he buys the coffee table from:

a. his [riend, as long as the price is no more than he is willing to pay.

b. his friend, as long he will split the difference on the price.

c. the warehouse, which can produce the table at the lower cost.

d. neither; he should make it himself for $100.

e. uncertain without additional information.

7. A tariff on imported steel in the U.S. would:

a. raise the total surplus in the U.S. market for steel.

b. lower the toial surplus in the U.S. market for steel.

¢. raise the total surplus of foreign exporters and consumers of steel.

d. raise the U.S. standard of living at the expense of that of the exporting country.
. none of the above.

. Relative to market-based pollution control policies, direct regulation:

. requires less detailed information to set the pollution limits.

. provides more of an incentive to develop better technology to clean up beyond the minimum.
. atlows polluters to pollute at no charge up to the limits set by the government.

. makes i1 easier to fine-tune regulations for different situations.

. all of the above,
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. Mandating [ringe benefits for all workers in a job would be most likely to:

9

a, increase both labor supply and demand.
b. decrease both labor supply and demand.
c

. increase labor supply and decrease labor demand.
d. decrease labor supply and increase labor demand.
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e. have no effect on labor supply or demand.

10. An efficient tax is one that:

a. raises large amounts of money quickly.

b. generales revenues at the least cost to the taxpayers.
c. satisfies both vertical and horizontal equity.

d. is easy to administer.

€. tmposes no costs on the taxpayer.

11, Which of the following is an example of an implicit cost?

a. wages paid to part-time workers,

b. wages that the sole proprietorship owner could have earned by going to work for someone else.
c. interest paid on a business loan.

d. costs of raw materials purchased now for use later.

e. all of the above.

12. A rational entrepreneur should enter 4 competitive industry only if:
a. price exceeds average variable cost.

b. price exceeds average total cost,

c. price exceeds marginal cost.

d. price exceeds average fixed cost.

g, profit is significantly greater than zero.

13. Suppose that demand increases for the output of a competitive industry, driving up price. Each of the
1,000 current firms is willing to increase quantity supplied by 2 units in response to the higher price.
Assuming free entry and exit, the iotal quantity supplied by the industry eventually will increase by:

a. less than 2,000,

b. exactly 2,000.

¢. more than 2,000.

d. 2,000 initially, then fall back to the original level in the long run.

e. none of the above,

14, In the short run, a monopolist with a loss of $50, along with marginal revenue of $15 and marginal cost
of § 10, shoutd:

a. shut down, b. expand output and cut price.

c. expand output and raise price. d. cut output and raise price.

e. cul output and price.

15. A price-discriminating monopolist would be likely to charge a:

a. higher price 1o those with inelastic demand than to those whose demand is elastic.
b. lower price to those with inelastic demand than to those whose demand is elastic.
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¢. high price to those with both elastic and inelastic demand.
d. higher price than a nondiscriminating monopolist.
e. higher price in the short run than in the long run.

16. Tying agreements are

a. a form of price discrimination.

b. a means for sellers to force buyers to pay for otherwise worthless products.

c. clearly not in the best interest of the general public.

d. irrational behavior by sellers who hope in vain to force people to buy products they do not want.
e. always legal, unless they result from conspiracies between sellers,

17. Compared with perfect competition, oligopolists tend to:

a. overproduce and overprice, b. underproduce and overprice.
c¢. overproduce and underprice. d. underproduce and underprice.
e. underproduce in the short run, then overproduce in the long run.

18. Which of the following statements is true regarding monopolistic competition?

a. Menopolistic competitors produce at the socially efficient level of output. as evidenced by their inability
to earn economic profit in the long run,

b. Monopolistic competitors share entry restrictions with monopoly, although those restrictions are not quite
as rigid.

¢&. Unlike the oligopolist, the monopolistic competitor sells a product that is different from those of other
firms.

d. Like the perfect competitor, the monopolistic competitor must sell at the prevailing market price.

e. Like the monopolist, the monopolistic competitor sells at a price that is greater than marginal cost and
marginal revenue.

19. As the wage rate increases due to a decrease in labor supply,
a. the value of the marginal product will fall.

b. the value of the marginal product will rise.

c. a shortage of labor will result.

d. a surplus of labor will result.

e. none of the above,

20. Which of the following is not an example of a factor of production?
a. China Steel wotkers used to produce sheet metal.

b. TSMC foundries used to produce wafer.

c. iron ore used to produce steel.

d. share of stock in China Steel Company.

e. all of the above are examples of factors of production.
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2. HBAEEEERR? AR T R U DB RAE RN B Y I
BEMELE? AEACE R AR ENREMEAR?

3. A RRIDDERRA S H LSR5 2 4R WERF %M T
Baml RECIHEATEAMAEORSAH NABRREET LS
FZBMARTEM - ARGABTHELYAN 4L 2 L5HGDP)» 18
RAGATHE?

4 FHBETHMFRU T QAN RESHERH - RETH Bl
ES7RACABUBDRFARGEL T HNMRENABNBEELY
BREFETHE?

5. RSB EEMOMPOAT 7 BEUE BN EPRESFFIR?

HHEEHFEF TR R SUR BN EARBEIAERS B
BEEMERALAELE?
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